50, will be treated as malpractice.

compulsorily draw diagonal cross lines on the remaining blank pages.

, appeal to evaluator and /or equations written eg, 42+8

2. Any revealing of identification

Important Note : 1. On completing your answers,
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Second Semester B.E. Degree Examlnatldn, Dec.2019/Jan.2020

Engineering Math%g&atlcs -1
N )

Time: 3 hrs. \ :
@’% g /
VE full questions, choosbng
2
I a. Solve d Z O6— 4y 2 (06 Marks)
dx dx :
b. Solve (D*-4)y= Cosh (Qx -1)+3" s (07 Marks)
c. Solve (D* + l)%%fé Sé;x by the method of vgflatlon of parameters. (07 Marks)
N, =
AL
2 a Sop” 123D - 15)y=0 ,, (06 Marks)
b. Ay’ + 4y = 8 (Sin2x + ,ﬁy@;y (07 Marks)
c. e e dy +4y =2x° by the method of un,det mmed coefficignts (07 Marks)
X
{ Modul -2
2.
3 a. Solve (xzD2 + xD + 1)y ='sin (2logx) e (06 Marks)
b. Solve x’p* + 3xyp.+ 2y* =0 3 «ﬁ% (07 Marks)
c. Find the general% singular solutloga f’dlalraut S equatlénf@ xp +p°. (07 Marks)
4 (06 Marks)
: . (07 Marks)
6?\ y he™ + p3 %Y =0 by using the substitution X =e*, Y = ¢’.
v (07 Marks)
5 by eliminating the function from

i)

Solve

axay (*a t?w

multiple of =3

ﬁg%?: % 62U 2 62U
22 axz .

Derive one dim

1 of2

(06 Marks)

Z —sinx smy,d’gx wh1ch z=—2s1ny when x = 0 and z = 0 when y is an odd

(07 Marks)

(07 Marks)
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NS>
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OR

6 a. Form the partial differential equation by the function from

f(x+y+z, x> +y* +2)=0 b (06 Marks)
2 4 :;f«j‘ v
b. Solve % +2z =0 given that z = cosx and @ =§i;;1§@,33vhen y =1 (07 Marks)

2%

c. Obtain the variable separable solution of Qr;%%g‘g%%nsmnal heat equatiof

(07 Marks)

(06 Marks)
(07 Marks)
”\%‘5&”
e &
c. o between Beta and Ga fuhiction as B(m,n) = E—M (07 Marks)
x V7 m%ta '(m+n)
N
s&ﬁﬂ%
OR
8 a Evaluétt%\;gzjt ‘J. I(x +y? +7%)dx dyﬂzi %?EW (06 Marks)
. ) —c-b-a "E“ @g“
b. Find the area between the parabo Iﬁy y* = 4ax and g;sz éﬁ%ﬁ% (07 Marks)
n/2 £

c. Prove that \/ dO (07 Marks)
(06 Marks)

N\ 4

1n tef‘ms of unit step function and hence find

(07 Marks)
(07 Marks)
10 a. Find the Laplace transform of/fhe periodic function f(t) =t%, 0 <t <2. (06 Marks)
b. Using convolution theor m pbtam the Inverse Laplace transform of —(21———13 . (07 Marks)
; s'(s” +

c. Solve by using Lapla@e transform y" + 4y + 4y =¢". Given that y(0) =0, y'(0) = 0.
(07 Marks)




